This drawing is copyright. No part of this work may be

copied, reproduced, altered or amended, stored in a retrieval

Copyright © 20086, Bluedog Fences

system, or transmitted in any form or by any means without
the prior permission in writing of the copyright owner.

Australia Pty Ltd. ACN 100 534 209.

4

-150

-100

_50

0N

50

100

150

\
100

{
-100

2480
2415 o
—(4) N e
e ;- 6\ 87 /// ‘ \\\
e AN / \
// — \\ % % / /_@ !/ \l
!/ : M L / [+ : \ /
\ | \ //
\\ // \\\ “4///
IE |/ ~——._ _T/O POST & UPRIGHT
o I ‘ ]
= | o
L @1 | ‘1 yTIORAIL |
! S o T S —— e
m O~ ¢ | i
Z l_- } ‘ 77777777\7\ 7777777777 7\7‘
< T | | | |
5 1 1 ] !
Sl o o | |
(‘:{ [a | | | | |
o 1 1 ] 1
o [ [ N \
w | |
:: — |
e |]/ m] /5N PANEL TO POST FIXING DETAIL
R R R R R RN R Tt sowes
) N \ —_
N AN | 455 :
| R A R N | 2z
4 ,\\ /\\ \\ I Z < < 8 > | |
, S S P N 3 1 |
o O N 8 ITe) \ !
0 Q 1o | |
H FRONT VIEW H s oL ‘ |
(INSIDE PROPERTY) | GROUND B 3 3
SCALE 1:16 \ \
CLEARANCE @200 Mlqh. . | |
Lo | |
i i
| |
/B3 SECTION ! !
\= SCALE 1:20 L/\/_l
/5 DETAIL
\=/ SCALE 1:5
GENERAL NOTES
1. TUBE MADE FROM PREMIUM GALVABOND ® TUBE FROM ORRCON OR EQUIVALENT.
2. STEEL TUBE TO COMPLY WITH AS1450 DESIGNATION C250 MINIMUM. BILL OF MATERIALS
3. STEEL TUBE TO HAVE A ZINC COATING MASS OF 137 G/M? INSIDE AND OUTSIDE OF TUBE.
4. ALL WELDS TO BE SILICON BRONZE. ITEM| DESCR. QTY.| SPEC.
5. POWDER COATING TO COMPLY WITH AS4506 CLASSIFICATION 2 1 |POST 2 | 65x65x1.6mm SHS x 1800mm LG
(SUBJECT TO SITE CONDITIONS). 2 | RAIL 2 | 40x40x1.6mm SHS x 2400mm LG
6. SCREWS TO INSIDE OF FENCE UNLESS BRACKET RESTRICTED. 3 | PICKET 22 | @19mm x 1.2mm x 1190mm LG @ 106mm Cts
7. CONCRETE FOOTINGS 20MPa MINIMUM. 4 |POSTCAP 2 | 65x65STEEL CAP
8. FOOTING SIZE RECOMMENDED (SUBJECT TO SITE SOIL CONDITIONS). 5 | RAIL BRACKET 4 | BLUEDOG SECURITY SMARTA BRACKET® ONE PIECE SECURITY BRACKET
9. ASSEMBLY TO COMPLY WITH AS1926. 6 |SCREW 12 | ANTI-TAMPER SELF DRILLING TEK SCREW 12g x 25mm LG
© Bluedog Fences Australia Pty Ltd.
l“EDOG DRAWN J.H. | 02-12-17
CHILDSURE® PLAYGROUND FENCE AND
} ‘ GATE SYSTEM
E“(ES‘ h REVEWED | S.B.| 0212471 = $19 ROUND 1200 HT. x 2400 LTH.
B | GENERAL REVISED JH | 02.12.17 AUSTRALIA 2 TYPICAL ASSEMBLY
A2 S.B. | 02-12-17
A | GENERAL REVISED JH | 17.09.16 fh' Egg 2;22 Sgﬁ APPROVED ©@] @ A3 88-190-FLT -03 B
AMDT | DESCRIPTION BY | DATE Bluedogfences.com.au ScALE: 1:16, 1:5 @ A3 DO NOT AMEND MANUALLY CODE SHEET AMDT

279x385




-150 -100 -50

50

100 150

copied, reproduced, altered or amended, stored in a retrieval
system, or transmitted in any form or by any means without
the prior permission in writing of the copyright owner.

This drawing is copyright. No part of this work may be

OUTSIDE
1p oo ol
=
3500 (POST CENTRES)
¢ ¢
/i SECTION INSIDE
—/ SCALE 1:20

3425 (OPENING)

Australia Pty Ltd. ACN 100 534 209.

Copyright © 2008, Bluedog Fences
A

100

50

-50

-100

1675 GATE FRAME 25 CLEARANCE ]
o I |
106 87 9 \ AT /
| I
; o (T
] ¢ ¢ als
\_/ E_ - _g
il B
¥. [
- - I 77777 T T
= 3 @ = :i Ll 13 9
z % inin 8
/® < o IR
< ()] } [ | }
ol = — | | —
Oﬁ"/\ (/'77* \‘ /—@ o Q‘/ | _i i_ ‘
~— 9l () Q : ‘
: i ///4{::> < EE
| | I— /
P 1 | [j/@ 3 N
AR I M [ A I il > N\
o ] S AN NN
SR | e QKGRI SRR | ke KK&E 8
N O A A A AN AN AN AN AN AT DUANNYA SUASCANANDAN Nyl 8
D, X h //>\///\\///\//>//\ I PRIR %\///\\///\//\//\//, vzz R /07, @13 x 550 LG DROP BOLT DETAIL
T N AN
2 RN o A\ v AN MR N= \— SCALE 1:8
S 4 @16 x 500mm LONG DROP BOLT SR
@ o | - CUT TO SUIT ON SITE. o |
~_GROUND
f N m FRONT VIEW f N CLEARANCE
— \— TYPICAL DOUBLE GATE ASSEMBLY —
’ OPEN IN, H'WARE TO INSIDE : BILL OF MATERIALS
SCALE 1:20
ITEM| DESCR. QTY.| SPEC.
1 |POST 2 | 75x 75 x 3mm SHS x 2000mm LG
GENERAL NOTES 2 | RAIL 2 | 40 x 40 x 1.6mm SHS
1. TUBE MADE FROM PREMIUM GALVABOND ® TUBE FROM ORRCON OR EQUIVALENT. j §|TC”;<EET 228 201; 40 21m2m SHS;; ggoomI'_“G"G e
2. STEEL TUBE TO COMPLY WITH AS1450 DESIGNATION C250 MINIMUM. mm X 1.2mm X mm LG @ 106mm Cts
3. STEEL TUBE TO HAVE A ZINC COATING MASS OF 137 G/M? INSIDE AND OUTSIDE OF TUBE. 5 | HINGE 4 | BALL BEARING HINGE HEAVY DUTY
4. ALL WELDS TO BE SILICON BRONZE. 6 LATCH 1 @20mm SLIDE BOLT AND 5mm RECEIVER
5. POWDER COATING TO COMPLY WITH AS4506 CLASSIFICATION 2 7 | DROPBOLT 2 | @16 x 550mm LG DROP BOLT
(SUBJECT TO SITE CONDITIONS). 8 | POST CAP 2 | 75x 75 STEEL CAP
6. SCREWS TO INSIDE OF FENCE UNLESS BRACKET RESTRICTED. 9 | STILE CAP 4 | 40 x 40 PLASTIC CAP
7. CONCRETE FOOTINGS 20MPa MINIMUM. 10 BOLT STILE 8 M8 x 60mm LG bolt and nut
8. FOOTING SIZE RECOMMENDED (SUBJECT TO SITE SOIL CONDITIONS). 1 TBOLTPOST 15 T M8 x 90mm LG bolt and ot
9. ASSEMBLY TO COMPLY WITH AS1926. 12 | SCREW 25 | ANTI-TAMPER SELF DRILLING TEK SCREW 14gx25mm LG
© Bluedog Fences Australia Pty Ltd.
DRAWN J.H. | 17-09-16
CHILDSURE® PLAYGROUND FENCE AND
oB.| 170046 GATE SYSTEM
REVIEWED | .8, | 1m0 | s srarus 40 x 40 STILE AND RAIL
AUSTRALIA 2 DOUBLE GATE ASSEMBLY
B.|17-09-16
A | GENERAL REVISED M | 17.09.16 fh' gg%g o755 Saas APPROVED | S.B cleld A3 | 88190-FLT-05 A
AMDT | DESCRIPTION BY | DATE |:;|uedogfences_com_au SCALE: 1:20, 1:8 @ A3 DO NOT AMEND MANUALLY CODE SHEET AMDT

/ 279x385




	88-19o-FLT -03 PANEL TYPICAL ASSEMBLY 1200 HT. x 2400 LTH..pdf
	CHILDSURE TYPICAL ASSEMBLIES.pdf



